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(54[H]) WD 72 M (Gene and development,evolution)

CED) WD 7V M2(How can small genetic changes result in large changes in phenotype?)
[556[0]) D7) 3(How can mutations with large effects change only one part of body?)
(ZE709]) WD TV 4 (Modularity allows for differences in the pattens of gene expression)
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#9[m]) D7) 6(How can developmental changes result in differences among species?)
#10[]) WD 7)) RN (How can developmental changes result in differences among species?)
EARIED W% 07 h8(How can the environment modultae evelopment?)

#12[H] WD 7V M (How can the environment modultae evelopment?)

F130M) M%7V MO(How can the environment modultae evelopment?)

#14[8]) WD 7)1 (How do developmental genes constrain evolution?)

F150M]) D7) 2(How do developmental genes constrain evolution?)



